LY

As required by Florida Statute 553.842 and Florida Administrative Code 9B-72, please provide the information and approval numbers on the building
components listed below if they will be utilized on the construction project for which you are applying for a building permit. We recommend you contact

your local product supplier should you not know the product approval number for any of the applicable listed producits. Statewide approved products are

listed online @ www.floridabuilding.omg

Category/Subcategory Manufagturer Product Description e . Approval Number(s)

1. EXTERIOR DOORS FltsTyrn ¢ ass FL 15220.1(
A. SWINGING J

8. SLIDING

C. SECTIONAL/ROLL UP

D. OTHER

2. WINDOWS _ ) ~

A. SINGLE/DOUBLE HUNG Knlbe 4‘0@ ent Derlec ouble [4% FL 22L55

B. HORIZONTAL SLIDER

C. CASEMENT

D. FIXED

E. MULLION

F. SKYLIGHTS

G. OTHER

3. PANEL WALL

A, SIDING

LW |

B. SOFFITS

90C

fFL 9555 .5 -

C.STOREFRONTS

D. GLASS BLOCK

E. OTHER

4. ROOFING PRODUCTS

A. ASPHALT SHINGLES

- ’

B.NON-STRUCT METAL

C. ROOFING TILES

-

D. SINGLE PLY ROOF

E. OTHER

5. STRUCT COMPONENTS

A, WOOD CONNECTORS

B. WOOD ANCHORS

C. TRUSS PLATES

D. INSULATION FORMS

E. LINTELS

F. OTHERS

6. NEW EXTERIOR

ENVELOPE PRODUCTS

The products listed below did not demonstrate product approval at plan review. | understand that at the time of inspection of these products, the following
information must be available to the inspector on the jobsite; 1) copy of the praduct approval, 2) performance characteristics which the product was tested and

certified to comply with,

Further, | understand these roducts may h

opy of the applicable manufacturers installation requirements.
to be removed if approval cannot be demonstrated during inspection.

Contractor or

ner Signature

NOTES:




N
d L
o L MAX. FRAME SIZE (IN.) IMPACT
i 1 48X 75 NO
o L
L o APPLICABLE FOR SINGLE UNITS ONLY
4 Hot
o o
B f INSTALLATION METHOD
o L
A d Nailing Fin 4" from each corner and 4" on center
‘:'- il Installation Clips 6" from each comer and 16" on center
o o Screw Thru Frame 6" from each corner and 16" on center
1o o
o o
g o
o o
L o FRAME ANCHOR REQUIREMENTS TABLE
. /// ! FRAME/CLIP & FIN TO OPENING FASTENER TYPE | et
o o -
Ll B #10 PFH screws inlo frame and wood substrate 1-1/47 See pg. 2
e o #B PFH Zinc treated screws into clip and wood substrate at an angle 1-1/2* —
d: i #8 PPH Zinc trealed screws into clip and frame FULL See pg. 2
(e s s e s = 2v)
#11 Galvanized roofing nails FULL See pg. 2
EXTERIOR ELEVATION
LB 1211 Depot Sereet
Manawa, W1 54949
GENERAL NOTES 9205962501
e s ST & WINDOWS & DOORS ®
1. These unils have been tesled, analyzed, Hallmark certified, and FBC approved.
2. Bucking, openings, and bucking fasteners mus! be propery designed and instalied to lransfer wind loads to tha struclure. The unil was tested with 1/2° rough opening gap, Forgent Series
3, Thesa units wara lasted with ponderosa pine bucks, Florida bulldin cude ra renawa!nre h'eabud southem pina bucks. . i
1 Al e ool L i UL Twn S g ““"‘:;,‘}I riss pecic il d Operaling Double Hung Window
5. Th its have been tesled in accordance with and meel the remenl the a el
B T Sputlecs ore reaiiond ol Wtk ner o e e g etz 0 Code, FL# 22655  |R&D No. 16128 & 16127
7. Al anchors shall be installed as specified on these drawi Sped ib base malerial shall be beyond wall finish or stucco, Revislon Drawn By: MKL
8. Shims are required at each anchor localion, When inslalialion clips are used, a shim is required lo be placed on each side of the installation clip. -
9. Any fived geomelric shape thal fits within the di size fora product type is quallfied by the rectangular shape provided thal (he frame, sash components, A Dale: 777117
and consiruction remain the same. B Sheet: 10f3
10. All fixed shaped unils musl fil inscribed into the allowabi lar units and be g by dasign of the i gular unil. c Drawing No. FDH-100




Nail Fin Installation sme Installation Clip Installation ] s wn Screw Installation | sor
T RRAX, [ " le-
B [ e -
Y OTHERS BY OTERS EYOTERS
AT GA, X 140 HOOSING NAR
TG X 112" ROOETNG. TR DFTIOHAL SAZ. Foi AT
AR, THRIOUGH NAL FIN PREDAR LED bOUE LOCATIONGS)
nnmnl:am
11 GA X 1T ROOF NG IR
THRCRCGR OFTINAL MAL F7¥ AT
PEEDHALED AO0E LOCATIONIE)
EDGE DISTANCE LDGE DISTANCE
PEDE TERNINED ™ PR
= & PRE-DRALED
R WoL LocaTion prano VoL LacATion
HEAR FRAME ANCHORS! HEAD
CLUPS (REF ¢
OPTIONAL NAR NG -
AL P FONAND DR T NALING PR
NOT TO REPLACE .
F A PESTALLATION CLP
CLIPS [REF,
EEALANT & o BEALANT &
CRER ED |
winest s o
£ PPH 2T
TREATED SCREW
8 0 34 PP LML PP 0O
e TREATED g o oot unrazss S
SCAEWE e
EXTERIOR EXTERIOR EXTERIOR |
1211 Depeon Streer
Manawa, WT 54949
GENERAL NOTES e o R Q20:596-2501
1. These units have been tested, analyzed, Halimark cenified, and FBC approved. =
2. Bucking, openings, and bucking fastenars musi ba propedy designed and installed to franster wind loads to the struclure. The unil was tested with 1/2° rough opening gap. Fargem Series
3. These units were tested with ponderosa pine bucks, Flordda bullding code raquires preservative ireated seuthem pine bucks. i
4. AN and shall be in with these drawings and may nol vary unless specifically mentioned on the draw Operaling Double Hung Window
5. These units have been lested in accardance with and mest the requiremenis of the Flodda Bulluhg Cade.
6. Impact shutters are required enly with non-impact units, FL# 22655 R&D No. 16126 & 16127
7. All anchors shall be Installed as ified on these ings. Specified embed base material shall be beyond wall finsh or stucco, Revisicn Drawn By: MKL
8. Shitns are required at sach anchor Iozatian. Whan instaliation clips are used, a shim Is roquired to be placed on each side of the installation clip, -
2, Any fixed geometric shape that fits within the dlapproved size for a parti product type Is qualified by the rectangular shape provided that the frame, sash components, A Date: 7717
and construction remain the sama, B Sheet: 20l 3
10. Al lixed shaped units must fit into the allowabl gular units and be by design p of the ive raclangular unit, c Drawing No. FDH-100A




Installation Clip Installation [

Nail Fin Installation I

e um
)
e = |—
4 A ] A L £
MR, wew "-'c“"-'“‘\
woom\ & anERs
Fonaa

184 ¥ 1A M s
THRUGH CTIALL AL T AT

PREGHNLED HOLE LOCAPIReS;

1158, ¥ 17 RN,
o

EXTERIOR EXTERIOR

ARG A

T ATER e

Screw Installation I

0 S
vt [
o
L
i
v TR
vae d o
7
noasure
THELGH P AT

T e LoeArre

EXTERIOR

i,
s

.
1. These units have ba:n tested, analyzed, Hallmark cariffied, and FBC approved.
2. Bucking. openings. and bucking lastenars must be properly designed and installed to transter wind loads to the structure, The unit was tested with 1/2° rough opaning gap.
3 Thease units were tested with ponderosa plrm bucks, Florida bullding code requires preservative treated sumham pine 'bunk.s

. AN shall be in with these and may not vary unless i d on the d
& These unlis have been tested In accordance with and meet the requirements of the Florida Building Code.
6. Impact shutters are required only with non-impact units.
7. Al anchors shall be installed as ified on these i base material shall bo bayond wall finish or stuceo.
8. Shims are required al each anchor location, When installation clips ara used, a shim is required to ba placad on sach side of the installation clip.

9, Any lixed geomalric shape that fits within the size for a particular product type is qualified by the rectangular shaps provided thal the frama, sash componants,
and construction remain the sama,
10. Al fixed shaped units must fit inscribed into the I units and be g oy all la design p of tha gular unil,

sy —
00 ar
frpsieley Y-
8 P o
THEATED St
8 0 300 o
N TRENTED
SLAENS
EXTERIOR EXTERIOR
EXTERICH
=3
reea s
Lo, o
F
v
Sk ¢ =l
3 ¥ - =)
GENERAL NOTES

1211 Depor Srreet
Manawa, WI 54949
9-596-2501

I e OORS |

Forgent Series
Operating Double Hung Window
New Caonstruction Frame

FL# 22655 R&D No. 16126 & 16127
Revisian Drawn By: JRK

A Date: 061218

B Sheet: 3of3

C Drawing No. FDH-1008




1 1 MAX. FRAME SIZE (IN.) IMPACT

i i 48X 75 NO

i L

A // o APPLICABLE FOR SINGLE UNITS ONLY

o / o
Lh Lt

2 o

° u INSTALLATION METHOD

: : Nalling Fin 4" from each corner and 4" on center
.- : Installation Clips 6" from each corner and 16" on center

+ L Screw Thru Frame 6" from each comer and 16" on cenler

o o

o o
[l i

[ of

A I FRAME ANCHOR REQUIREMENTS TABLE

q // o FRAMEICLIP & FIN TO OPENING FASTENER TYPE s laca

o o =
Tl A #10 PFH screws into frame and wood substrate 1-1/4° See pg. 2

5 o #B PFH Zinc treated screws into clip and wood subslirate at an angle 112" -
ﬁmﬂ #8 PPH Zinc trealed screws into clip and frame FULL See pg. 2

#11 Galvanized roofing nails FULL See pg. 2
EXTERIOR ELEVATION
LBE 1211 Depor Street
+  Manawa, WI 54949
GENERAL NOTES 920:596-2501

1. Thesa units have been tesled, analyzed, Hallmark certified, and FBC approved.
2. Bucking, openings, and bucking fasteners must be properly designed and instalied to transfer wind loads to (he structure, The unll was tasted wilth 1/2° rough opening gap.
! Thase unils were lested with ponderasa pine bucks, Florida building code requires preservative treated southem pina bucks.
and shall be in wilh these ings and may not vary unless ificall on the
5 These unils have been testad in accordance with and meul the requirements orl.he la Building Code.
6. Impact shulters are required only with non-impact units,
7. All anchors shall be inslalled as specified on thase base material shall be beyond wall finish or stucco,
8. Shims are required al each anchor location. When installation ulps are used, a2 shim is required to be placed on each side of (he installation clip.

9. Any fixed geomalric shape that fits within the P sizefora preduct type is qualified by the reclangular shape provided that the frame, sash components,
and constuction remain the same.
10. All fixed shaped unils must fil into the gular units and be g by design p of the raspaciy lar unil.

o WTHDOWS & DOORS &

Forgent Series
Operating Double Hung Window

FL# 22655 R&D No. 16126 & 16127
Revision Drawn By: MKL

A Dale: 7717

B Sheet: 10of3

[+ Drawing Mo, FDH-100




Nail Fin Installation s A | llation Clip | llati | o= drn Screw Installation T

v pea, —|
WL XA P T, 'MLPJ‘_L-\\ L AR,
WOOO SUY . WD BuCx
el oy aroTERs Y OTRERE

GRS MOOFING B
FROUGH ORTICNAL MAK FIAT

HAR, THROUDH MNAL, P EDAILLED MOLE LOCATIONIS)
AT BREDAN|ED HOLE
LOCATICHS}
11 AL X 1 ROGOFG NAL e
THAOILIGH OFTIONAL AL FFH AT
PREDARLED MOLE LOCATIONG).
EDGE MSTANCE EngE pETAncE |
PREDETERMINED P CRTEMREL = PREDE f=RMINED ]
Y PREDELLED Y FREDRILLED rb'::_u‘u WAL S PRE Getnt
HOLE LOCATION 4 A0 B i
HOLE LOCATION 4037 T REPUACE HOLE LOCATION
WEA T
€189 REE ) —~
—| 1546° |—
CETINAL NARINS
FIN AN D
NOT TO REPLACE oy oo oy
FRAME ANCHORS: PRETALLATION CLI
CLES (REF}
N
B e
SEALMIT & —

" PR SING

£4 BCAEW FEHWOOD
SM5 PFH CARDN STEEL
HOT 0 GRALVANZED SCREW

EXTERIOR

EXTERIOR

T(»I‘ A

£

y LB E 1211 Depor Streer
,  Manawa, WI 54949
GENERAL NOTES 9204596:2501
R ® WINDIWS & [OURS &
1. These unlts have been tested, analyzed, Hallmark certified, and FBC appraved.
2. Bugking, openings, and bucking fastenars mus! be propery designiad and Inﬂ;ﬂed to transfar wind loads 1o the structure. The unit was tested with 1/2° rough opening gap. Forgent Series
3. These units were lested wilh ponderasa pine bucks. Florida bullding code requires preservative treated southam pine bucks, :
™ '?'IPEL ot hand"b sllpilhein k! with these n'glm andﬁa natF\;ar unlasn: pecifically s on tha g Operating Double Hung Window
5. These units have been tested in accordance with and mest the requirements of tha ida Bui Code.
6. Impact shullers are required enly with nan-impact units, = o FL# 22655 R&D No. 16126 & 16127
7. All anchors shall be installed as specified on these Specified base material shall be beyond wall finlsh or stucco, Revislon Drawn By: MKL
8, Shims are required at each ancher location, When installation clips are used, a shim Is requited ta be placed on aach side of the Installation clip.
8, Any fixed geometric shape that fits within the fapp size fora i product type is qualified by the rectangular shape provided that the frame, sash companents, A Date: 7717
and construction ramain lhe same. B Sheet: 20f3
10, All fized shaped units must fil ibed inlo the all ls gular unils and be g by design p of tha unil. c Drawing No. FDH-100A




Installation Clip Installation |

Nall Fin Installation

=
% 1
v —] |—
g B
i wom nry\
wecn weoneRs
Frome

116 ¥ LA At A
TS0 CATISHA. HAL (4 AT .
PREISIAL £ C0E | DEATES \

T
15

10 b
i T

n k.
AT PRETES|ED B
LOATION)

i D,
s e
W PEIL RO
VR LDCATIN

EXTERIOR

e

FaTaLATIC LS

) P e
TRLATED SCREW

EXTERIDR
EXTERIOR

1ae f=

EXTERIOR A i

Screw Installation |

0 s
veune =
-
s R
i
BrorEns
PR

11 Ga F 107 BTG N

T

PULDRA£E AT L DA s [T

EXTEROR

i LRIV BN D00
S3a8 PFH CARGH STEEL
T DR GALVAIIED ST

s

GENERAL NOTES
1. These units have b::ﬁ tested, analyzed, Hallmark certified, and FBC approved.
2. Bucking, openings, and bucking fasteners must be properly designed and installed to transfer wind loads to the stnuclure. The unit was tested with 1/2° rough opening gap.
3. These units were tested with ponderosa pine bucks, Florida building code requites preservative treated southern plna bucks.
4. Allh and I, shall be in with these ings and may not vary unless ificall on the
5. These units have been tested in accordance with and meet the requirements of the Florda Building Code.
6, Impact shutters are required only with non-impact units,
7. All anchors shall be installed as on these g base material shall be baynnd wall firlsh or stucco,
8. Shims ara required al each anchor localion, Whan instaliation clips are used, a shim is required 1o ba placad an each side of the installation clip.

9. Any fixed geomalric shape that fits within the size fora lcular product lype ks gualified by the reclangular shape provided thal the frame, sash componenis,
and consinuction remaln the same.
10. Al fixed shaped unils must fit inseribed into the L lar units and be g by all l2 design of the respaciive rectangular unil.

K&QLBE

1211 Depat Street
Manawa, W1 54949
920.596-2501

RN A DOORS

Forgent Series
Operating Double Hung Window
New Construction Frame

FL# 22655 RE&D No. 16126 & 16127
Revision Drawn By: JRK

A Dale; D6M9/18

B Sheet: 30f3

C Drawing No. FDH-1008




plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany
Series N Fiberglass Door

INSWING / OUTSWING -
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Buliding Code
[FBC) structural requirements including the "High Velocity Huricane Zone” (HVHZ).

Product anchers shal be os listed and spaced as shown on detalls, Anchor embedment o base material
shall be beyond wall dressing or stucco.

When used in fhe "HVHI" this product is required to be protected with an impact resistant covering that
complies with Secfion 1626 of the FBC.

When used in areas outside of the "HVHI" requiring wind beme debis protection, this product is required
to be protected with an impact resistant coverng that complies with FEC Sections 1409.1.2 & R301.2.1.2.

For 2« stud construction, anchering of these units shall be the same as thot shown for 2¢ buck masonry
construction,

Site conditions that deviate from the details of this drawing require further engineering analysis by a
licensed engineer or registerad architect.

. Quiswing configurations meet water infilfration requirements for "HYHZ",

Inswing configurations do not meet the waler infiliration requiremants for the "HVHI". Inswing units shall
be installed only in non-habiteble areas or at habitable locations protected by an overhang or
canopy such thot the angle between the edge of canopy or overhang to sl is less than 45 degrees.

TABLE OF CONTENTS

DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details and glazing defail

Horizontal & Verical Cross Sections (2X Buck]
Horizonial & Verfical Cross Sections (1X Buck]
Horizontal & Verfical Cross Sections (Direct to Masonry)
Verfical Cross Secfions [Thresholds)

Horizontal & Verfical Cross Sections (Direct fo Masonry)
Buck and frame anchoring

Bill of materials & components

g2

'OB)“\JU\MAMM—-E
L

3750 MAX. OVERALL __
_ FRAME WIDTH

—— 98.00" MAX. OVERALL FRAME HEIGHT - INSWING

96.50" MAX. OVERALL FRAME HEIGHT - QUTSWING

| ————
| OVERALL | DESIGN PRESSURE (PSF)
SWING |  FRAME S O R
DIMENSION | POSTIVE | NEGATIVE
INSWING | 37.50" x 98.00" | +47.0 -47.0
OUTSWING | 37.50" x 96.50" | +47.0 -47.0

7,
(5
W
;AT
[ -z
H
FOSE daam
> 2382
v §R%E
sm WMMR
§fz gf:
.m.mm 2088
m_”m
5
N
w
&5
B=
i
o o=t
==
AN
o Ly
2 |5 £
3 = e
g |8 g,
i |2 g8
& ~ |5 £2
2 Ew
8 m &
& &
BRRE
B
B8
SR
SR8 |
slslsl 8
Zo 2
w0 |0 m
o
~2lR
mw:m
ZEE
Sle
nl.zzvrl.-
Zazm
{2 3
Jn‘-..lml
oaTE: 02,/20/12
scue  N.T.S,
DWG. BY: JK
o, B LFS
_bgﬁs“
FL-15220.11
sem 1 or 9

© 2012 AW, BULDIND DONSULTANTS INC.



95.25" MAX. DOOR PANEL HEIGHT
79" MAX, D.L.O. HEIGHT

;Ij

elo

HIQIM BNV

_W
L

il
I

Yyooq ——=

3

]

3
= g E
Rl g 5 2

E X =

o D= E o
ERIER |2 :
818«
< =<|wv @ g g
= T '55_'
00 Qg S r 2
i 52
55|88 5 3
g |2° 3
g (& 2
B

WYO4 3NVHIZENAIO

10.5°0.C. [TYP.)

SSVIO Q3¥3dWAL 8/1 ~—_ |

_/"'::-
Dl

JOWdS Y

SSVID O3834WAL.E/ |

G VIO HUL —= =

"AHL SS9 TIVE3A0 2/ L

YOI

g = Ny
9 5
§§§r1%§§5
ﬁgl_
Brg
| £33
= (o]
29
g x

JOIE3INI

F WWO4 INVHLIANAIO0d
T

[DAd 3VINTED) TS IONH

—

/[
T

(DML 49070 "NIW)

/_msaooc

T ru—”— {DAd #vINTED)
I L—"""" wviwouos
g

NOILD3S SSO¥D TYIU¥IA\ | /

8

I
g

i

g,

\‘\\ <. S-GHMQ);?’J

R
773 FONAL B\
Ut

-3 Z
3 St
o v
S S s
July 27,2020 =
E E g g E 2 PRODUCT: Documanta Prepared By:
a5 2| PLASTPRO INC Lyndon F. Schmidt
LG R FIBERGLASS DOOR P.E. No. 43409 7
|'\’ G5 = [y|-2]7/27/20 [UPDATE TO 77H ED (2020) FBC_|TFS
2 N ﬁ = \9\ 2 i '02/17 [UPDATE TO 6TH ED. (2017) FBC JK | PART DR ASSEMBLY: ‘% BUILDING CONSULTANTS, INC.
I“’ = >3 22/15 |UPDATE 10 STH ED. (2014) FBC K PANEL DETALS W P.0. Box 230, Valirico, FL 33805
By N INGT DATE BY DfNDD"” GLAZING DETAIL Phone No. B13.659.8197
REVISIONS FBPE Reglstry No. 9813

D 2012 R.W. BUILDING CONSULTANTS IHEC.



NOLLD3S SSO¥D TVINOZINOH

{dat)
INIS-D .£10

i
i
e

a.wcwx___L G.gé N
(TYF)

1-1/4" MIN.
EMB. (TYP.)

NIV 1L

['dAll ‘awa |

“\unnm, ’
o ?.sc%
\ICENge

P.0. Box 230, Valrico, FL 33595

Phonea No.: B13.659.9197
FBPE Registry No. 9813

July 27,2020 =

2 2 £ Documents Prepared By:
a2 g ! g E L] Lyndon F. Schmidt

BT FIBERGLASS DOOR P.E. No. 43409 “ty
E‘-‘ 0B = I~ |3_| 7/27,/20 |UFDATE TO 7TH ED (2020) FBC
WHER N ae s o R Ry sarem somer. ¥

¢ Slin[S . (2014) FBC W
o = |9 P Mo HORIZONTAL & VERTICA

REVISIONS

D 2016 R.W. BUILDING CONBULTANTE iNG.




RAChients\Plastpro, Inc PERMANENT\A - Florids Product

{1oguis Buywsul) umous Bumsing
song-ans x| /mumous [ §

NOILD3S SSO¥D TVINOIWOH\ L J

(o Btwm_ 1) umoys Bumsing

3ona-qns X /m umous /)
NOII3S $S0¥3 TYoINIA \_t )

(Jopusss Buwsui) umous Buimsing

Ll g

O LEIVE]

1-1747 MIN.
EMB. (TYP.)

itd

\\“\llll!ln,ﬁ

July 27,2020 =

g - SE g E -3 PRODUCT:
G : | B PLASTPRO INC
IR LI FIBERGLASS DOOR
|-A o B = | 3| 7727/20 |UFGATE 10 _71H ED (2020) FBC | LFS
g~ e |7 é‘\ 2 02/17 |UPDATE TO 6TH ED. (2017) FBC JK | PART OR ASSEMBLY:
S | n|F | |1 104/22/15 [UPDATE T0 STH ED. (2014) FBC JK
o= |1™|"|< [noLbare BY|  crO8s SECTIoNS (1x Suck)
REVISIONS

Dozuments Prapared By:

Lyndon F. Schmidt
P.E. No. 43409

A}
\\\\

gy 2
/, ONAL W
g W
R BUILDING CONSULTANTS, INC.
W P.0. Box 230, Valrico, FL 33595
Phone No.: B13.659.8197
FBPE Reglstry No. 9813

\‘\‘ G-S-QH&!/O 2,

s

o

HH

© 2016 AW, BuLoiNG CONSULTANTS ING.



RiClients\Plasipro, Inc PERMANENT\A - Florida Product Approvals\FL-15220 Non-Impact Fiberglass Door - Inswing-OutswinghC - Drawings\FL-15220 (20207\FL-15220.11 dwg. 1-5

(ojus Bumsuy) umous Buwmsing
A 122410 UMOYS
NOILD3S SSO¥D TVINOINOH \_1L_/

('dal) ‘ez
NIW b -1

ETelETI

Buwmsuy) umoys Bumsing
N 7 oy umaus 76\
NOILD3S SSO¥ TVINOZROH \ )

{1ojuiss Buimsul) umoys Bumsing
ALOSOW 0} 1080 UMOUS
NOILD3S SSO¥D TVILNIA

win
R iy,

/
1-1/4" MIN, e SCHAA 2,
N Pt %
EMB. (TYP) S \,..fi-\-pmq;.‘.{?) %
s s
/ S 7 hNo.4sae
July 27,2020 =
g 3 g g g PRODUCT: Documents Propared Byie,
B|lD Pl b PLASTPRO INC Lyndon F. Schmidt
| 15121727 FIBERGLASS DOOR P.E. No. 43409 y L e
A T = |3 [ 27727720 UPGATE 10 7TH €D (2020) FBC_|1Fs s
8| R || |5|S |2 jg8/02/17 [UPOATE TO 6TH Eo. M!’i FEC | JK | PART OR ASSEMBLY: .% BUILDING CONSULTANTS, INC.
o] 2 B[R [ S [ PL22LE {UE0ATE T0 STH ED. (2073) Fec norzonTL 4 verioat cross [ VW PO. ox 230, Valrica, L. 33595
2 » [NOJ DATE BY | SECTIONS (DIRECT TO MASONRY) Phone No.: B13.659.9187
REVISIONS FBPE Registry No. 8813

D 2016 R.W. BULDING CONBULTANTS INE.



RACHents\Plastpro, Inc FERMANENT\A - Florida Product ApprovalsiFL-15220 Non-lmpact Fiberglass Door - Inswing-Outswing\C - Drawings\FL-15220 {2020)\FL-15220.1 1.dwg. 1-6

| 1-1/4" MIN.
EMB. (TYP.)

—

JORaIX3

A

Il

uoyoInBruod Bumsing m
NOILD3S §S0¥D TVOLIA\_L )
q

JOI¥3INI

1-1/4" MIN,
EMB. [TYP,)

ek ElLE|

NOILD3S SSO¥D TVIIL¥IA \ €

®
HOI3INI

gy,
\\\\\‘ﬁ H scHMIé
>~ Y‘I.M- %

No. 43409
*

.rr;,’,

July 27,2020 =

E 5 5_3 g E § PRODUCT:
P 3ala|”|o PLASTPRO INC
I""‘ b Rl B = g FIBERGLASS DOOR
0B = [y | 2| 7/27/20 [UPDATE TO_7TH ED (2020) FBC_|LFS
glm |- i S E 02/17 |UPDATE TO &TH ED. (2017) FBC JK | PART OR ASSEMBLY:
l“’ S [axlb> | 22/15 |UPDATE TO S5TH ED. (2014) FBC JK VERTICAL CROSS
- r [NO] DATE BY
REVEONS SECTIONS (THRESHOLDS)

Documanis Prepared By:

Lyndon F. Schmidt
P.E. No. 43408

!% BUILDING CONSULTANTS, INC.
W P.O. Box 230, Valrico, FL 335085
Phone Mo.: B13.658.9197

FBPE Reglstry No. 9813

%,

7,
o

‘7, 7/ W
s, N
i

”
-,
Z
=
*

S T o

D 2016 AW, BUILDING CONBULTANTS ING.



RACHents\Plastpro, Inc PERMANENT\A - Florida Product rovals\FL-15220 Non-Impact Fiberglass Door - Inswing-Outswing\C - Drawings\FL-15220 (2020/\FL-15220,11 dwg. 1-7

gz 3 "
BRI L ) 2
oF “
§§% - : /\é@
. r =B
@ i
oe g TN
e 4 @ s
LIS _
s 8 3z
zuv 1.5
@ MIN,

OSOW 03 30630 umoys /£ )
NOILD3S SSO¥D TVINOIZIINOH \S_//

1\
A
T
=
\
A\
\©

quuof ;&ié’? /M Ajuo Bumsing

['dALl "gwa
NIW /L=
i

ggg v
Ol . e M
§§.Q OB | o [‘EMB. (TYP)
SR~ ]
=20 0 1
g s
B e
g o " EN
Py 1| AR
~ja :
el =
g O = s,
H _ £n &5
i
228
0|~
25 ©
§g x 3 W,
—_ 7 r M. A\l 1,
e % gg = W e, SCHM Y,
N S el
3 |® 3z 425 — o 1.5' MAX. S Vi uomiey 2
= =# =~ . -
: Al e A
= ” : ot
July 27,2020 =% !
§ g 7 PRODUCT. Documents Prapared By, s, .
S o B E E # PLASTPRO ING Lyndon F. Schemidt - Lopoh.
L&F 28 FIBERGLASS DOOR FLE. No. 43409 7, IONAL B
Nk 3 = || 51 7727/20 [UPDATE TO 77 ED (2020) FBC | LFs ’fm"‘?m\\\‘
P § 5 a S § z: 22 :; ﬂzmﬁ_ ;'g :m ED. E'WJJFTC JK_| PART OR_ASSEMBLY: R BUILDING CONSULTANTS, K.
|w = x| N s ED. (2014) FBC JK HORIZONTAL & VERTICAL W P.0. Box 230, Valrico, FL 33585
— By SECTIONS (DIRECT TO MASONRY) Phone Ne.: 813.659.9197
REVISIONS FBPE Registry No. 9813

© 2012 RW. BUILDING CONBULTANTS ING.



Re\Clients\Plastpro, Inc PEAMANENT\A - Florida Product Approvals\FL-15220 Non-Impact Fiberglass Door - Inswing-Outswing\C - Drawings\FL-15220 (2020/\FL-15220.0 1.dwg, 1-8

TYP. HEAD
& JAMBS

e T

52 i

°

SN

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Concrate anchor locolions of the comers may be adiusted fo moinioin the min.

edge distance to morfar joints.

2. Cencrate anchor localions noted os "MAX. ON CENTER" must be adiusted fo

maintain the min. edge distonce fo merer joints, additional concrete anchors
may be required fo ensure the “MAX. ON CENTER" dimension are not exceeded,

3, Concrete anchor fobile:

ANCHOR |ANCHOR| ~ MIN.

" MIN. CLEARANCE | MIN. CIEARANCE]

vpe | sne | Emsroment | TOMAZONRY | TOADIACENT
oot | 1w BT r ¢
wimacoi®] 10 14 v ¥
taron® | 3 114" 3 1yr
WOOD SCREW INSTALLATION NOTES:

1. Mainlain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spocing of
wood screws to prevent the spiitting of wood.

.|
TR

5547

5F —'-I i
=2 c-o]

STRIKE JAMB

DIRECTTO
MASCNRY)

1X BUCK
2X BUCK

" DIRECT TO MASONRY JAMB (TYP.)
49/16" JAMB @Gmm SHEET7)

a 7

L

e
4 4

.HMHH.J
e
MASONRY “

OPENING

FRAME I\\

2X BUCK

° 2X BUCK
o 1X BUCK

DIRECTTO
MASONRY

TYP. HEAD
& JAMBS

DIRECTTO
MASONRY
JAMB [TYP,)
[SEE SHEET 7}

7

"

=

J

e .

OUTSWING
. INSWING
= TYP. @SiLL

1
|

24

HINGE JAMB

LATCH & DEADBOLT DETAIL

DIRECT TO
MASONRY

P.O. Box 230, Volrico, FL 33595

Lyndon F. Schmidt
43409
BUILDING CONSULTANTS, INC.
Phone No.: 813.859.9167
FBFE Regist No. 9813

P.E. No.

Ry

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:
BUCK AND FRAME ANCHORING

PRODUCT:

o ]
JK
BY

UPDATE TC 7TH ED (2020) FBC | LFS

CRara e

17 |UPDATE TO 6TH ED. (2017) FBC
15 |UPDATE TO 5TH ED. (2014) FBC

1]

7/27,
3,
DATE

5
2
T
NOJ

REVISIONS

e 02/20/12

SCALE:  N.T.S.

owG, BY: JK

LFS

[CHK. BY:

(DRAWING NO.-
FL-15220.11

sesr 8 v 9

© 2012 R.W. BUILDING DONBULTANTS ING.



0 2012 R.W. BUILDING CONBULTANTS INC.

L1
fl.a...MJaa -*. ..... ,
. 1 = o 555 \\\ -]
BILL OF MATERIALS e " | g & 0«.\“ 8
IEM @ | DESCRIPTION MATERIAL 1 =& m x 1g=2 M?
A__|1XBUCKSG >=0.55 WOOD I Zog ¢ i85y (22
8 w.umcmr_w m.m_ = 0.5 WOOD = V% S m $ 5°
c " MAX. SHIM SPACE < %, e fr S 808
D | 1/4 X 2-3/4" PFH ELCO OR W CONCRETE SCREW STEEL T e — L “, D g .27
2 £ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE i 5 SR8
g 301 OR HOLLOW BLOCK CONFORMING TQ ASTM C90 "w_ﬁnﬁ JAMS 3E ¢ 528
b G [ 3/18"x3-1/4" PFH MW CONCRETE SCREW STEEL m g mm ] m
g H__|1/4"X3-1/4" PFH ELCO OR TW CONCRETE SCREW STEEL /_ sE9 3 mpm
1 [1/4"X1-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL . =g
1| 1/4"X 3-3/4" PFr ELCO OR MW CONCRETE SCREW STEEL [ 458" _ 2 S § W
K__| 1/4" X 2-1/4" TW CONCRETE SCREW STEEL . - i R
L | #10X 2-1/2"PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL u
M__| 3/18"X 2-1/4" TW CONCRETE SCREW TEEL =
N__| 3/16" X 2-3/4' TW CONCRETE SCREW STEEL ﬁ _ |
P__|1/4 X 2-1/4' PFH ELCO CONCREIE SCREW STEEL . g
1| POLY FIBER JAMS COMP. / VINYL y A mm m
2 | INGER JOINTED PINE FRAME WOOD =a 5
7| WEATHERSTRIP FOAM (2)oo0laus =8E m
8 | DOOR BOTIOM SWEEP VINYL 3E 185
9 |4 X4 BUTT HINGE STEEL O e
11| #9 X 3/4" PFH WOOD SCREW STEEL & & g
27 | LATCH STRIKE PLATE STEEL & = 2086" — 8 E
28| DEADBOLT STRIKE PLATE STEEL I b = | e a
30 | OUTSWING THRESHOLD ALUM/WOQD 9 g S _ HEIED
34 | OUTSWING THRESHOLD ALUM/WOOD S ot \@m‘{.wf
37 _|INSWING THRESHOLD ALUM/WOOD al,
40| DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - I R
58 | #8 X 2"PFH WOOD SCREW STEEL SR1E
nuvimhd._.maﬂ!w °§nu§m¥mﬂ. O -
Belel &
Siele
lad
. e
m 558
_
= owte: 02/20/12
m s N.T.S.
2 Columbia High Dam (581) onc. 8. JK
gl INSWING THRESHOLD cHe. 8. LFS
3 DLP [8CS) DRAWING NO.:
& FL-15220.11
5 e 9 oF 9
H



EVALUATION REPORT OF
UNION CORRUGATING COMPANY
‘29 GA, MASTERRIB PANEL’
OVER WOOD SUPPORTS

FLORIDA BUILDING CODE 7TH EDITION (2020)
FLORIDA PRODUCT APPROVAL

FL 9555.5-R5
STRUCTURAL COMPONENTS
ROOF DECK
Prepared For:

Union Corruga'tiqg Company
701 8. King St.
Fayetteville, NC 28301
Telephone: (910) 483-0479
Fax: (910) 483-1001

Prepared By:

Bala Sockalingam, Ph.D,, P.E,
Florida Professional Engineer #62240
1216 N Lansing Ave., Suite C

Tulsa, OK 74106 ‘
Telephone: (918) 492-5992
FAX: (866) 366-1543

This report consists of

Evaluation Report (3 Pages including cover) Ay
Installation Details (1 Page) kAl iy,
Load Span Table (1 Page) SN 6O NG Y,
FU o o220 Y%
g} % S
= i = ", awe OF s':""‘:E
Report No. C2373-5 B3, STATE O JUg
Date: 8.8.2020 _ L o n\ SO
TR TTEAAEE 2
-k }0- EA '-:\‘.

S FITET L

L



Manufacturer:
Product Name:
Panel Description:

Materials:

Support Description:

Slope:

Design Pressure:
(Based on testing)

Panel Attachment:

At panel ends
At intermediate

Sidelap Attachment:

Test Standards:

Test Equivalency:

Code Compliance:

Product Limitations:

FL 9555.5-R5
C2373-5
8.8.2020

Page 2 of 3

Union Corrugating Company
MasterRib Panel
36" wide coverage with 3/4" high ribs at 9" o.c.

Minimum 29 ga., 80 ksi steel. Galvanized coated steel (ASTM A653)
or Galvalume coated steel (ASTM A792) or painted steel (AST™M
A755). Corrosion resistant as per FBC 2020 Section 1507.4.3.

Nom. 2" x 2" (min) SPF, SYP or DF lumber. (Must be designed by
others)

1/2:12 or greater in accordance with FBC 2020 Section 1507.4.2

+27.1 and -36.2 psf at support spacing of 48" o.c.
(at 3 span condition with FS = 2.0)

#9-15 or #10-14 x 1.5" long wood screws with washers. Fasteners are
corrosion resistant as per FBC 2020 Section 1507.4.4.

at 3.5"-5.5"-3.5" o.c. across panel width

at 9" o.c. across panel width

¥4"-14 x 7/8" long SDS with washer at 24" o.c. Fasteners ate corrosion
resistant as per FBC 2020 Section 1507.4.4.

Panel assembly tested in accordance with ASTM E1592-01 ‘Test
Method for Structural Performance of Sheet Metal Roof and Siding
Systems by Uniform Static Air Pressure Difference’ and FM 4470
Section 5.5 ‘Resistance to Foot Traffic’.

The test procedure in ASTM E1592-01 comply with test procedure
prescribed in ASTM E1592-05(2012).

The test procedure in FM 4470 (1992) comply with test procedure
prescribed in FM 4470 (2016) Section 4.6 ‘Resistance to Foot Traffic’,

The product described herein has demonstrated compliance with FBC
2020 Section 1507.4.

Design wind loads shall be determined for each project in accordance
with FBC 2020 Section 1609 or ASCE 7-16 using allowable stress
design. The maximum support spacing listed herein shall not be
exceeded. The design pressure for reduced support spacing may be
computed using rational analysis prepared by a Florida Professional
Engineer or based on Union Corrugating load span table. This product
is not approved for use in the High Velocity Hurricane Zone. Fire



Supporting Documents:

FL 9555.5-R5
C2373-5
8.8.2020

Page 3 of 3

classification is not within scope of this Evaluation Report. Refer to
FBC 2020 Section 1505 and current approved roofing materials
directory for fire ratings of this product.

ASTM E1592 Test Report
ENCON Technology Inc.
C1514-1 (Test #2 & 3), Reporting Date 9/8/07

FM 4470 Test Report
ENCON Technology Inc.
C1583-2, Reporting Date 7/24/08



L o |

| STELET ‘S1¥0ddNs
IAVH OL I¥vd MO SINO4dNS 39018 oL 3AV3 NIIMITE NVDS AV STINVA 2
"SH3HIO 40 ALMIBISNOHSIM 3HL 3uV OGNV NOLYOMddY Hova Y04 aaxindasd
Q3¥IND3Y SY SAVOT ONIM -ONVLSHLUM OL GINOISIA 38 ISNW SINOddns -9 dY134IS T3INVd
TIOMINGD TIVHS 3000 3HL “3000 3IHL % ONIMVAG SIHL 40 SININININDIM (Sy3HLO A8 :
WNAINIA 3HL NIIMIZE SYNOD0 JONIMAAIO V 41 3000 SNIGTNG Q3N9ISIa) ¥38AMT
VARHOld 3HL % ONIMYVHQ SIHL HLM 3ONVONOOOV NI 38 ISNW SMENAISVH TIV 'S “(NIW) .Z X .Z "WON —
'SOVOT NOIS30 FTEVMOTIV 3HL NVHL M3IVIHO 3dv SGvOT GNIM
NIISIQ a3INDIY IHL NIHM GITIVISNI 38 LON AVA WIISAS TaNvd SiHL :
"LO3ro¥d HOV3 ¥04 GININYALIA 38 TIVHS SOVOT ANIM NOIS3a Bmﬁmmw_ &
9 a
SHL NO 03U4I03dS SV 3MNLONMIS ¥3A0 QITIVISNI 39 ._.zxwmmdﬁm« momm e
98 = d
HLOIM ONIMIACD 3AILD3443 “(LE10'0 = 1) ¥9 62 38 S STINYd 4004 2 . 43H HUM s
= (084) 3002 oNIGTNE ONOT L&' X ¥1—0l# ¥O Gl—6 00 HZ @ NIHSVM
e E sm VOROT 3HL HUM 30NVOHOOOY NI G3INDIS30 N33 SvH Tanvd -00d L 3NALSYS TaNvel HUM' SS %1—9/}
*mw m SIION VIaNTD P ¥INALSYS dvi3ais
¢ .
233 (s¥3HLO Ag
£ o F M3IA NOILDO3S CNOISIT) SN
g £t 2|5 (SNVdS GNY SQVOT TIgvMOTIV NIN) .2 X .2 "WON
§° 7|8 — 04 FIGVL NVJS OO 335) f
g o 00 LBF XV
L
Z
g 1L [
e g i —
g = ) _
ol 8 ] 00 L§E-,5'5-,5C 00 bz © 70 .6 © TN
e8u g | S © Y3INAISVS TINVd YINAISYS dViEaIS Y3NILSVS TANVd BaISYA
aEx3 | &
55|32
(=] %
NCELE] NOLLO3S—X NOLLYTIVLSNI TaNVd TVIIdAL S0 A8
B3 = Q3N2IS3a) ¥3aNM
c_ma « NIW) .Z X .Z "WON
gg

I _ I : i i _\% SL¥OddNS aN3
l|/f\|'i'[1 |[|1/.\\ o — — I{ ]
dz&l\l _’ _ ‘
00 4T ® - g |\

| .
‘00 5E-.56— ge
¥ANILSVA JvT3aS . © MANALSYA TENVd

(S¥3HLO Ag
G3NDISIA) ¥IBWM

\\Lz_zu +Z X .2 "WON

| | i M SLY0ddNS YORALNI
il T R & T G
‘0’0 .m’ll_ |\
0 .6 @

H3INALSYA TNV




UNION CORRUGATING COMPANY
MasterRib Roof Panel
36" wide, 29 ga, (min) Steel Panel over Wood Supports

Span Loading | &%wﬁblghﬁﬂfpfﬁ e
Condition Tyee | . Subpoit Spacing(ty e o
L 1 150 | 195 | 200 | 235 T 250 | 295 | 300 | 350 | 400
TwoSpsn | Grviy | 1064 | 012 | 798 709 | 639 | 580 | 532 | 456 | 847
e | OB | 849 |7728 | 637 | 566 | 510 | 463 | 425 | 364 | 290
ThreeSpan | Gravity | 1309 | 1037 | 907 | 806 | 726 | 660 | 605 | 405 | 271
o L UPlif | 965 | 827 | 724 | 644 | 579 | 537 | 483 | 414 362
FoworMore | Graviy | 1164 | 998 | 87.3 | 716 698 | 635 | 582 | 430 | 288

—Sps ) pit | 909 | 796 | 697 | 619 | ss7 | 507 | 465 398 | 538

Notes:
1. Allowable load for each condition is the smallest load caleulated based on fastener capacity, panel strength and
add deflection litnit 6F 1/180. Allowable loads are caloulated for mitiit 29 ga. pariel, '
2. 'The wind load fs takett as 0.7 times the “comporent and eladding” loads for the purpose of determining deflection Himit,
3. The panel ailowable properties ate determined from full scale ASTM K159 tests at 4' 0" span
4, The pane] fasteners pre #9:16 ot 10-14:x 1+1/2" long wood screws with washers. Fasterier spacing across paniel width
1§9.0" 0.c. in the interior supports 4nd 3.5":5.5"3.5" 0., at pangl eids.
5. Sidelap fasteners ae 1/4"<14 x 7/8" loig self drilling serews with washers at24" ¢,
6. Wood supports are miniimm 2" x 2 lumber, All SUppotts trust be designed to tesist all loads imposed on the panel,
7. Mititiufi bearing width of suppoit is 1.5,
8. The panels may span from eave to ridge ot rake to take.
9. Panels must be installed #s pet Eviluation Report FL 9555.5 and Union current installation procedure,

' -‘-“"“i““f' ,
_ ““;Q@'ﬁ ALj &gr,%

Bala Sockalingam, Ph.D., P.E.

1216 N Lansing Ave, Suite C
PE 62240

Tulsa, OK 74106
918 492 5993




